Pei Chun Pablic School
Continual Assessment 1 — 2012 -
Mathematics
Prmary 6

Paper 1 (Booklet A)

You are not allowed to use a calculator.

Name: ( ) Date: 28 February 2012
Class: Primary 6
Total Time for Booklets A and B: 50 min

-Math-s Teacher -

Parent's signature

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 camty 2 marks each.
For each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the cormect oval (1, 2, 3 or 4) on the Optical Answer Sheet.”

{ 20 marks )

1. The price of a flat when rounded off to the nearest thousand doliars is $465 000Q.
Which is the flowest possible price of the flat? -

{1 $464 499 |
2) $464 500
(3) $465499 -
(4)  $465500 - )
2. A factory can produce 600 bottles of milk in an hour. How many bottles of milk can

the factory produce in 15 minutes?

M 10
@ 40
@ 9
(45 150 ( )
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3. Find the value of 36 + 24 32 x 2..-

{1) 16

2 36

@ 40 ‘

@ 4 | T G

4, Simplify 8m+5-m—2 + 3m.

(1  4m-3
(2 4m+3
(3 10m-3
@ 10m+3 ( )

5. Find the value of % =5.
1

3
(1) 20
5
@ Sz
2.
(3) 5};
2
@ 63 ¢ )
5
6. Express TE as a decimal. Give your answer correct to 2 decimal places.
(1) 7.56
2) 7.65
3) 783
@ 784 ( )
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7. e figure below shows abeaker with some-water in‘it.

What is the volume of the water in the beaker?

(1)
)
3
(“4)

0210¢
0.220¢
0.225¢°

0.250t

The solid figure below is made up of 1-cm cubes.

What is the volume of the sofid figure?

(1
2)
(3
(4)

7 cm’®
8 cm®
9 cm®

10 cm®
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9. Inthe figure below, COD; EOF and-GOH are straight fines. /COH <85%and -
ZLEOD = 140°,

C D
E
Find /x.
(1) as5°
@ 55
(3) 45°
4 a0 ( )

10. The line graph below shows the number of visitors to the zao from January to May.
4000

A

Number 4 \
of 2000

s 7. \

N 7 N
W T

0

Jan Feb Mar Apr May

Between which 2 months was there the greatest increase in the number of visitors
to the zao?

(1) Jan and Feb

(2) Feb and Mar

{3) Mar and Apr

(4  Aprand May B ( )
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1.

In the figuré below, ABCDHs & trapézium 4ndiCO= DO, -

Find Zy.
(1) 15°
. (2) - 31°
(3) 62°
@ 7 ( )

A2

13.

MALPG1CAT 12012

The usual price of a wallet was $30. During a sale, Sandy bought the wallet at a
discounted price of $64. What was the percentage discount on the wallet?

(1 20%

). 25%

@) 5% )

“  80% ¢ )

. 5 .
Bala wants to pack 2 kg of salt into packets of Y kg each. What is the greatest

number of such packets Bala can pack?

1 1
@ 2
@ 3
4 4 ( )
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14, The ratio of the number of Cindy's sweets to'the nimiber of Jimmy’s sweets was
2: 5. After Cindy bought 64 sweets and Jimmy ate 64 sweels, the ratio became
2: 1. How many sweets did Cindy have at first?

m 8

@ 16

@ 32

4 48 ( )

15. Each figure below is made up of shaded and unshaded squares.

Figure 2. Figure 3

How many unshaded sduares does Figure 30 have?

(1) 961
2 931
(3} 930
4) 900 ( }
End of Baooklet A
MA PG/ CAT/2012
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Pei Chun Public School
Continual Assessment 1
Mathematics
Primary 6

Paper 1 (Booklet B)
You are not allowed to use a calculator.

Name : ( } Marks :

Class : Primary 6

20
Da!e N
Total Tlrpe for Bocklets A and B: 50 min
Maths Teacher
Parenf's Signature
Ques.tl-’-ons 16 to 25 carry 1 mark each. Write your answers in the spaces provided. Do rot write
For questions which require units, give your answers in the units stated. ( 10 marks ) | i this space

16.  List down ail the common multiples.of 6 and 8 that are smaller than 50.

17.  Fill in the missing number in the box.

3285=3+02+ +0.005

Ans :

SCORE l
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-18.

The table below shows the parking charges at a car park.

Parking Charges

7am.foS5pm.

$3.50 per hour or part thereof

Ben parked his car from 1.20 p.m. to 4.35 p-m. How much parking fee did he pay?

19.  Shade three more squares to complete the figure below so that the dotted fine EF
is the line of symmetry. ‘
E-~-{4--4---}F-- ---F
20. A movie lasting 2 hours and 32 minutes ended at 13 50. At what time did the
movie start? Give your answer in 24-hour time.
Ans:
21. Arrange the following fractions from the smallest to the largest.
SCORE
MAZP6/CA1/2012
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22. Find the value of 0.08 x 90. Do not wiite
in this space

23.  Find the value of 10.02 — 8.3.

Ans:

'24.  The pattem in the box below shows part of a tessellation. Extend the tessellation
by drawing three more unit shapes in the space provided within the box.

SCORE l
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25. °  In the figure below, JKL is a straight line. Find the area of triangle KLM.

J K4_5_._____,, L
JL_i B
6 cm]
_ 10 cm
Y
M

“Questions 26 to 30 cany 2 marks each. Show. your working clearly in the ‘space below
each question and write your answers in the spaces provided. For questioris which -
require units, give your answers.in. the units stated. { 10 marks )

26.. Ada's massis 3ckg. Samis 2 kg lighter than Ada. Zackis 5 kg heavier than Ada.
If ¢ =9, what is the total mass of Ada, Sam and Zack in kg?

SCORE
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27.

Nat has 12 erasers and Yani has some erasers, If Yani gives Nat 5 erasers, the.

number of erasers Yani has will decrease by 20%. How many erasers do they
have altogether?

28. Draw and label a triangle PRS in which PR = 10 cm and ZPRS =30°. Theline RS
has been drawn for you.
SCORE
MA/PEICA112012 Page 5 of 6 (Go on to the next page)
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29:. . Mr Huat went fo a bakery to buy some muffins: The price of one muffin was $0.80. 0o ot write.
Forevery?muﬂ'ms-MrHuatbought,hemuidbuyanoﬂterme_athaﬁﬂle-ptioe- in this space
What was the greatest number of muffins that Mr Huat could buy with $21? : '

30. . There were some books in a box. Fartis took 25% of the books and another 5
. more baoks. After Indra took 50% of the remaining books and another 3 more
baoks, there were 8 baoks left in the box. How many books were there in the box
at first? ‘

Ans:

o End of Booklet B SCORE j
Setby : MrTerence Ong
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Pei Chun Public School
Continual Assessment 1 - 2012
Mathematics
Primary 6

I

Paper 2
You are allowed to use a calculator.

J

{ ) Marks -

Class : Primary6_

Date : 28 February 2012

Time - 1h 40 min
Maths T .[

Parent’s Signature

Questions 1 to 4 cany 2 marks each. Show your working clearly in-the space provided for |-
each question and write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. (8 marks )

Paper 1 _ '
{Booklet A) 20
Paper 1
(Booklet B) g 2%
Paper 2 A " 40 '
Booklet K )

- Qn's, Qri14-Qn 13- 20

TOTAL - 100

1. Janet'sfaﬂleris:%&yearsolderﬂmm}anet. 3 years ago, he was 4 times as old as
Janet How old will Janet be 6 years from now?

Ans: years old

MA /P67 CAL /2012
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- inthis space

Page t of 10 {Go on to the next page)




Aizhen has $107.40 more than Fiona. Affer Aizhen spent half of her-money and
Fiona speat $51.40, they-had an equal amount of money left. How much money

did Fiona have at first?

Ans: §

Identical 2-cm cubes are cut from a rectangular block of wood measuring 20 cm by,
35 ¢m by 31 ¢m. - Whiat is the' greatestnumber of such cubes that can be cut from
the block of wood?

Ans ;

A piece of wire is bent into the shape of an equilateral triangle as shown in the
figure below. The same wire is.then bent into the shape of a square. Express the
lepgth of the square in terms of .

h
wl
y

C (r+1em

Ans: Cm

5.

Refer to Booklet K. SCORE
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tor questions 6 to 13, show your working cleady:in the space provided for eadrquéstion Do 0ot wikte
and wrile your answers in the spaces provided. The number of marks available is shown in ¥ space
 mbrackets | }at the end of each question or part-question. (Totat: 32 marks )

" 6. The bar graph betow shows the number of shists sold by Mrs Quah from Monday to
‘riday. -

60

(a) On whith day was the number of shirts sold a quarter of those soid on .
Thursday? '

(b) Find the ratio of the number of shirts sold on Friday to the number of shirts
sold on Tuesday. Give your answer in the simplest form.

{c) Express the number of shirts sold on Wednesday as a percentage of the

total number of shirts sold from Monday to Friday. Give your answer to the
nearest 1%. )

Ans: (a) {1

(©) ) (11

(c) 12]

SCORE l

MA/PGICAT 12012 Page 3 of 10 (Go on to the next page)




7. Famer Ho planted 20 apple trees in a row at equal distance apart. The dislance
beiweenﬂxeﬁrstandﬂ:efourlhtreewasﬂSm )

ey

(a) Find the distance between the first and the last tree.

. Last

(b) Famer Ho wants to p!ant another 25 trees at equal distance apart using the
same total distance as in (a). How far apart will each tree be from the next?
(Give your answer comrect {o 1 decimal place.)

Ans : (a) - [21
(b) (1]

SCORE
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8. For every 250 books Sharon sells, she eams $10. She receives an addition of

$30 for every 5000 books sold. How many books miust she sell o eam $1620? # this space

Ans :

i3]

MA/P6 (CA1/201
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9.  Helén and Muliwihad Some stickers. The number of stickers Helonhad was 64% Do ot wite
; - : in this space

of what Muthu had. Helenﬂmgavem%ofhersﬁd@s. As a resuit, Muthu
had 119 more stickers than Helen.

{a) Mmsﬁdﬁetsddﬂelenhaveatﬁst?
()  How manv stickers did Muthu have in the end?

Ans: (a) 4]

(b) (1]

SCORE
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710_. -MsSonghassomemoneytobuyapplesandpea(s lfshebuysSapplesand Do not write
2 pears, shie will have $2.051eft. IfshehtwsZapﬁesmwd?pearsnstead.shewﬁ - i this space
need another $2.30. - If an-apple costs $0:55, hwmudlmoneydoesMrsSmg '
tave?

- Ans: [3]

SCORE

MA/PBICAT/2012 | Page 7 of 10 {Go oa to the next page)



11

Atﬁrst,ﬂmwe 18 boysand126gnisat the school hail.. There wersalso some
Pupds at the carfeen. The: ratio of the number of boysito the number of giils 2t the

rafio of the ‘number of boys fo.the number of girls at e school hall became 1 : 4.

How many boys were there at the canteen at first?

Ans (31

SCORE
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12. lnmeﬁgurebelow QRSTlsasquare TUVlsastrarghtkﬂe

ST=TU and £SUT =73°.

Q_ R

73°

(@ Find £QTU.

) Find ZUQR.

Ans : (a) 2]
(®) i3]
SCORE
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13. A:ﬁrst,maematowoﬁmmeandredmdsma;ar Aﬁerzofﬂleb!ue e il

: beadsand dﬂeredbeadsmranoved&omﬁle;ar the ratio of the number
ofbkrebeadsle!tmﬂle;artome_nwnberoftedbeadsleftmﬂle-.jarbecameﬁ:a.
(@) Howmanyredbeadsmﬂxezeinthejaratﬁrst’_?

(b) Howmmymorebhebeadsmustbeaddedto the jar so that the number of
blue beads in the jar becomes 58%72 _

Ans : (a) [3]
(b} _ 2]
Folé%Questioéts_ 14 10 18, refer to Bookdet K.
End of this Bookiet SCORE
Bethy - Mr Terence Ong
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Pei Chun Public School
Continual Assessment 1, 2012
Primary 6, Mathematics
Paper 1, Booklet A & B

1) 2 {4) 4 [7) 4 |10} 1 |13} 3
2) 4 |5) 1 8) 2 |13) 2 |1g) 4
3) 3 |e) 3 9) 2 |12y 1 |15) 3
16) 24,48 17} 0.0 p 18) $14
— 5 3 4
19 " 20) 118 21 =, 2, =
) - ) ) 3’ 3 3
22} 7.2 23} 1.72
1
14) =} 25} -2-')(5)(6=§
-1 26) Ada=3c=3xokg=27
. Sam=27-2=25
o Zack=27+5=32
. Total =27 +25+32 =84
7} 20%=5 Yani=5x5=25 Total =25+ 12 =37
8) P

7 muffins = $0.80 x 7 = $5.60
8 muffins = $5.60 + $0.40 = $6
Muffins bought =3x8+ 3 =27

50% of remainder=8+3=11
75% of the box'=22¢5=27
No. of books initially = 9 x 4 = 36

Muffins sold at half price = $0.80 + 2 = $0.40
Group of muffins =21+ 6=3r3

Remainder=11 x 2=22
25%=27+3 =9



Paper 2

3units =36 lunit=36+3=12 Now=12+3=15
byearslater=15+6=21 |

1 unit = $107.40 + $51.40 = $158.80
Amount of moriey Fiona have at first = $158.80 + $51.40 = $210.20

1)
)

initial no. of blue beads = x5=350

No. of blue beads to be added = 580 - 350 =230

20+2=10 35+2=17r1 31+2=15r1
Greatest number = 10 x 17 x 15 = 2550
. ' 3r+3
Length of wire = (r+1) + {r+1) + {r+1) = 3r + 3 Length of square = { 2 )
20
Monday 6b) 42:36=7:6 6c¢) x100% =12%
E— 14 + 36 + 20 + 56 + 42 T2
- Helen = 64% of Muthu C Helen gave = 7 X64%=16% - - 7} :
Muthu after = 100% + 16% = 116% Helen after = 64% - 16% = 48% '4)‘/3‘4_" P
Difference = 116% - 48% = 68% . Bt
68% =119 4)
64% = 119,64 =112 a) Helen had 112 stickers at first. £) 25 LY o {
6]?19 b) Muthu has 203 stickers in the end.
116% = — x116 =203
68
5 pears =52.05 + $2.30 + ( 3 x $0.55) = $6 ‘ 1pear=56+5=51.20
2 pears and 5 apples = {$1.20 x 2} + ($0.55 x 5) =$5.15
Money Mrs song had = $5.15 + $2.05 = $7.20
Boys : Girls School Hall
+1 18: 12 +2 Canteen 4 parts + 72 = 2 parts + 126
1:4 4 parts - 2 parts =126~ 72
2 parts =54
4:2 lpart=54+2=27
+72 +126 i ’ )
4:4 There were 27 boys at the canteen at first.
£ZUT5=180°-73°-73"=34° £QiuU=90°-34° =56°
£TQU = (180° - 56°) + 2 = 62° £UQR=90°- 62° = 28°
Total units=15+7=22 1540
No. of red beads at first = 2%15= 1050
% of Red beads at end 4&9% ‘ Red beads at end = x6=420
Blue beadsatend = 4% 58 =530
1540 | 1540
22 42
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